
Figure 4-figure supplement 1
a b c

d e f

−0.8 −0.4 0 0.4 0.8

5

10

15

20

−power log-ratio (Inc/Con)
−0.8 −0.4 0 0.4 0.8

5

10

15

20

−power log-ratio (cI/iI)
−0.8 −0.4 0 0.4 0.8

5

10

15

20

−power log-ratio (iC/cC)

−0.8 −0.4 0 0.4 0.8

5

10

15

20

−power log-ratio (Inc/Con)
−0.8 −0.4 0 0.4 0.8

5

10

15

20

−power log-ratio (cI/iI)
−0.8 −0.4 0 0.4 0.8

5

10

15

20

−power log-ratio (iC/cC)

P = 0.004
P < 10-7

χ2= 20.9, P < 10-5

P = 0.02
P = 0.06

χ2= 2.7, P = 0.10
P = 0.41
P = 0.11

χ2= 0.1, P = 0.76

P = 0.05
P < 10-5

χ2= 13.9, P < 10-4

P = 0.05
P = 0.01

χ2= 0.01, P = 0.91
P = 0.17
P = 0.78

χ2= 0.5, P = 0.50

n = 64 n = 64

n = 66 n = 66 n = 66

θ

β

θ θ

β β

n = 64

Tangetal_F4S1.pdf
Created in: Adobe Illustrator CS6 (Macintosh)


